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 01 milg;gpDs;s ,yf;fq;fis kl;Lk; gad;gLj;;jp tpdhf;fSf;F tpil 
jUf. 

 

 

1) ,k;%d;W ,yf;fq;fisAk; gad;gLj;jp cUthf;ff;$ba %tpyf;f vd;fs; 

%d;iw vOJf. …………..  …………….. …………… 

2) ,t;tpyf;fq;fshy; cUthf;ff;$ba kpfg;ngupa vz; ahJ? ……………… 

3) ,t;tpyf;fq;fshy; cUthf;ff;$ba kpfr;rpwpa vz; ahJ? ……………… 

4) ePq;fs; cUthf;ff;$ba kpfg;ngupa vz;izAk;> kpfr;rpwpa vz;izAk;  

 $l;Lf. ………….. + …………. = ……….. 

5) E}whk; ,lj;jpy; 7 tuf;$bajhf cUthf;ff;$ba ,U vz;fis vOJf. 

 ……………. ……………..     ( 5  3 = 15 Gs;spfs; ) 

    [       

 02) cUf;fis mtjhdpj;J> Kd;gf;fj;Njhw;wk;> gf;fj;Njhw;wk;> Nkw;gf;f 
Njhw;wk; vd;gtw;iwf; Fwpj;Jf; fhl;Lf. 

 

 

 

 

 

           ( 3  3 = 9 Gs;spfs; ) 

Rl;nlz;:…………………………………

…
fzpjk; 

jp/fpz;/my;-Gu;f;fhd; tpj;jpahyak; Gs;spfs; 

 

Neuk;: 1.00 kzpj;jpahyk; 

Kjyhe; jtizg; guPl;ir – 2020 

juk; 
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4 3 5 

   -   2 1 5 

4 3 5 

   -   2 1 5 

4   5 

   2 

4 3 5 

   -   2 1  5 

4   5 

   2 

4   5 

   2 
4   5 

   2 

 

   

 03) I. jugl;Ls;s cUf;fspy; fhw;gq;if ( ¼ ) epwe;jPl;Lf. 

 

 1.    2.    3.      

 

              
  

 

    II. jugl;Ls;s cUf;fspy; miug;gq;if ( ½ ) epwe;jPl;Lf. 

  4.     5. 

 

 

  ( 5  2 = 10 Gs;spfs; ) 

 

              

 4) jPu;f;f. 

 1)    2)      3) 

 

              

  4)     5)    6) 

 

 

  7)    8)  9)   10) 

 
   

            ( 10  2 = 20 Gs;spfs; ) 

1  3  3   

 +   2  0  4   

4  0  4    

  +   1  5  9  
3 2 5   

 +   2 0 4   

      3  2  5   

 +   2  0  4   

kalvi.lk

https://kalvi.lk


3 
  

 

 05) vz; Nfhyq;fis ,dq;fz;L ,ilntspfis epug;Gf. 

 1) 50 >   60 >   70 >   …… >  …… 

 2) 98 >   96 >   94 >   …… >  ……. 

 3) 18 >   28 >  …… >  …… >  58 

 4) ….. >  …… >  43>   53 >   63  

 5) 7 >   9 >  ….. >  …… >   ……. 

                 ( 5  2 = 10 Gs;spfs; ) 

 

 06) gpurpdk; jPu;f;f.  

 1) 16 Njq;fha;fis ,UtupilNa rkkhfg; gfpu;e;jhy;> xUtUf;F fpilf;Fk;  

    Njq;fha;fspd; vz;zpf;if ahJ?  ………………………………… 

 

 2) xU gz;izapy; 20 fpspfs; ,Ue;jd. mjid ehd;F $Lfspy; 

milj;jhy;> xU $l;by; vj;jid fpspfs; ,Uf;Fk;? …………………… 

 

 3) xU go tpahghupaplk; 140 khk;goq;fs; ,Ue;jd. mtw;wpy; 60 

khk;goq;fif tpw;wjd;gpd;> mt;tpahghupaplk; vQ;rpapUf;Fk; 

khk;goq;fspd; vz;zpf;if ahJ? ………………………… 

 4)  ghlrhiynahd;wpy; 153 khztu;fs; fy;tp fw;fpd;wdu;. mtw;wpy; Mz; 

khztu;fspd; vz;zpf;if 80 MFk;> ngz; khztu;fspd; vz;zpf;if 

ahJ? ……………………………. 

 5) xU khztDf;F 5 ngz;rpy;fs; tPjk; 10 khztu;fSf;F toq;Ftjw;F 

vj;jid ngd;rpy;fs; Njitg;gLk;? ……………………………… 

                 ( 5  3 = 15 Gs;spfs; ) 
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 07) jfty;fis thrpj;J tpdhf;fSf;F tpil jUf. 

  

 

 

 

 

 

   

 

 

 

 

 

 

 

 

 

 

 1. $Ljyhd khztu;fs; tpUk;Gk; ghlk; vJ? ………………………. 

 2. fzpj ghlj;ij vj;jid khztu;fs; tpUk;Gfpd;wdu;? ……………… 

3. jha;nkhopg;; ghlj;ij tpUk;Gk; khztu;fSf;Fk;> fzpjg; ghlj;ij 
tpUk;Gk; khztu;fSf;Fk; ,ilapyhd tpj;jpahrk; ahJ?  

 4. Mq;fpyg; ghlj;ij tpUk;Gk; khztu;fis tiugpy; Fwpj;Jf; fhl;Lf. 

 5. kpff;Fiwthdtu;fs; tpUk;Gk; ghlk; vJ? 

           ( 5  4 = 20 Gs;spfs; ) 

tpUg;gkhd ghlk; khztu; vz;zpf;;if 

jha;nkhop 7 

fzpjk; 4 

Mq;fpyk; 6 

Rw;whly; 5 

    

jha;nkhop fzpjk; Rw;whly; Mq;fpyk; 
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